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unprinted or torned or missing pages or items, etc. If so, request for its replacement. 

2. You have to enter your Examination Number on the Test Booklet in the Box 

        provided alongside. DO NOT write / mark anything else on the Test Booklet. 

3. This Test Booklet contains two  parts as shown below. 

 No. of 

questions 

Marks Nature of 

questions 

Negative Marks 

Part – I 50 100 Objective One third for each wrong answer 

Part – II 40 100 Objective One third for each wrong answer Except for Q. Nos. 85 to 90. 

Each item is printed both in English and Marathi. Each item comprises four responses (answers). You will select the 

response which you want to mark on the Answer Sheet. In case you feel that there is more than one correct response, 

mark the response which you consider the best. In any case, choose ONLY ONE response for each item. 

4. You have to attempt all questions from Part - I and Part-II [Q. Nos. 1 to 90] from 11 am to 1 pm only. You have to 
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8. Sheets for rough work are appended in the Test Booklet at the end. 

9. Penalty for wrong answers : 

         THERE  WILL  BE  PENALTY  FOR  WRONG  ANSWERS  MARKED  BY  A  CANDIDATE  in Part I and Part II EXCEPT 

FOR QUESTIONS FROM 85 TO 90, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER. 

i) There are four alternatives for the answer to every question. For each question for which a wrong answer has been 

given by the candidate, one-third of the marks assigned to that question will be deducted as penalty. 

ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers 

happens to be correct and there will be same penalty as above to that question. 

iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question. 

10.   Please note that Part-I of this paper will be evaluated only if a candidate secures a minimum 33 marks in  

        Part-II and final selection list will be prepared on the basis of marks secured in Part-I only. 

11.   Final result of this examination will be declared on or after 26.12.2015 on the website www.yashada.org/acec   
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PART – I / ^mJ - 1 

 

Question no. 1 : In a land mark historic judgement on 14 

September 2015, the Delhi High Court, passed which of the 

following verdict? 

 1) Acceptance of same gender marriages. 

 2) Permanent commission of women in the Navy. 

 3) An unwed mother can claim guardianship of her 

child without disclosing name of the father. 

 4) Recognition of the right to negative vote for the 

electorate in the country. 

àíZ H«$. 1 : Imbrb n¶m©¶mVrb H$moUVm {ZdmS>m {X„r Cƒ 
Ý¶m¶mb¶mZo 14 gßQ>|~a 2015 bm {Xbm Omo H$s Eo{Vhm{gH$ ‘hÎdmMm 
R>amdm? 
 1) g‘qbJr {ddmhmg ‘mÝ¶Vm 
 2) Zm{dH$ XbmV {ó¶m§Zm H$m¶‘Mo A{YH$manXmg ‘mÝ¶Vm 
 3) A{ddm{hV AmB© {VÀ¶m ~mimMo nmbH$Ëd ~mimÀ¶m d{S>bm§Mo 

Zmd Z gm§JVm KoD$ eH$Vo. 
 4) XoemV ZH$mamË‘H$ ‘V Zm|XdÊ¶mMm A{YH$mambm ‘mÝ¶Vm 
Question no. 2 : Arrange the following states according to 

the decreasing order of their underground water resources.  

 1) Punjab – Telangana – Assam – West Bengal  

 2) Telangana – Assam – West Bengal – Punjab 

 3) Assam – West Bengal – Punjab – Telangana 

 4) West Bengal – Punjab – Assam – Telangana 

àíZ H«$. 2 : Imbrb amÁ¶m§Mr ^yObómoVm§À¶m CVaË¶m H«$‘mZwgma 
‘m§S>Ur H$am. 
 1) n§Om~ - Vob§JUm - Amgm‘ - npíM‘ ~§Jmb 
 2) Vob§JUm - Amgm‘ - npíM‘ ~§Jmb - n§Om~ 
 3) Amgm‘ - npíM‘ ~§Jmb - n§Om~ - Vob§JUm 
 4) npíM‘ ~§Jmb - n§Om~ - Amgm‘ - Vob§JUm 
Question no. 3 : Any expenditure charged on the 

consolidated fund of India needs the approval of the ........ 

 1) Parliament 2) Prime Minister 

 3) Cabinet  4) NITI Commission 

àíZ H«$. 3 : ^maVmÀ¶m g§{MV{ZYrVyZ H$amd¶mÀ¶m H$moUË¶mhr IMm©bm 
........ ¶m§Mr ‘mÝ¶Vm Amdí¶H$ AgVo. 
 1) g§gX 2) n§VàYmZ 3) H°${~ZoQ> 4) ZrVr Am¶moJ 
Question no. 4 : Which of the following statement/s is/are 

correct? 

a) Textile industry contributes about 14% to India’s  

industrial production and 13% to the country’s export 

earnings. 

b) The decentralized power looms, hosiery and knitting 

sectors form the largest section of the Textiles Industry. 

c) Online sale of handloom products is banned. 

 1) only b 2) b and c 3) a and b 4) a and c 

àíZ H«$. 4 : Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV? 
a) dómoÚmoJmMm ^maVr¶ Am¡Úmo{JH$ CËnmXZmV 14%  Va XoemÀ¶m 

{Z¶m©V CËnÞmV 13% dmQ>m Amho. 
b) {dH|${ÐV ¶§Ì‘mJ, hmo{O¶ar Am[U {dUH$m‘ joÌ dómoÚmoJmMm ‘moR>m 

^mJ AmhoV. 
c) hmV‘mJ CËnmXZmMr Am°ZbmB©Z {dH«$s H$aÊ¶mg ~§Xr Amho. 
 1) ’$³V b 2) b Am{U c 3) a Am{U b 4) a Am{U c 

Question no. 5 : World Health Organisation (WHO) 

released the Global status report on road safety 2015 on 19
th
 

October 2015. Consider the statements in relation to the 

report. Which of these statements are true? 

A) In the last three years 79 countries have seen a decrease 

in the absolute number of fatalities while 68 countries 

have seen an increase. 

B) Worldwide the total number of road traffic deaths have 

gone up to 1.50 million per year. 

C) The report has been prepared from information of 180 

countries. 

 1) A and B  2) B and C 

 3) All A, B, and C 4) A and C 

àíZ H«$. 5 : OmJ{VH$ Amamo½¶ g§KQ>ZoZo (WHO) 2015 À¶m gS>H$ 
gwa{jVVoÀ¶m g§X^m©V d¡pídH$ Ahdmb 19 Am°³Q>mo~a 2015 bm 
àH$m{eV Ho$bm ¶m Ahdmbmg§X^m©V {dYmZo bjmV ¿¶m. H$moUVr {dYmZo 
gË¶ AmhoV? 
A) Joë¶m VrZ dfm©V 79 Xoem§Zr ~ir§À¶m EHy$U g§»¶oV KQ> AZŵ dbr 

Amho Va 68 XoemV dmT> Pmbr Amho. 
B) OJ^amV gS>H$ XþK©Q>ZoV ~ir nS>Umè¶m§Mr EHy$U g§»¶m à{Vdfu 

1.50 Xebjn¶ªV Jobr Amho. 
C) hm Ahdmb 180 Xoem§À¶m ‘m{hVrdê$Z ~ZdÊ¶mV Ambm Amho. 
 1) A Am{U B  2) B Am{U C 
 3) A, B Am{U C gd© 4) A Am{U C 
Question no. 6 : The famers are provided credit from a 

number of sources for their short and long term needs. 

The main sources of credit to the farmers include. 

 1) The primary agricultural cooperative societies, 

commercial banks, RRBs and Private money 

lenders. 

 2) The NABARD, RBI, Commercial banks and 

private money lenders. 

 3) The District Central Cooperative Banks (DCCB), 

The lead banks, IRDP and JRY 

 4) The large scale multi–purpose Adivasis 

programme, DCCB, IFFCO and commercial 

banks. 

àíZ H«$. 6 : eoVH$è¶m§Zm Ë¶m§À¶m Aën d XrK©H$mimÀ¶m JaOm§gmR>r 
nVnwadR>m H$aUmao AZoH$ òmoV AmhoV. 
nVnwadR>m H$aÊ¶m‘Ü¶o àm‘w»¶mZo ¶m òmoVm§Mm g‘mdoe hmoVmo 
 1) àmW{‘H$ H¥$fr ghH$mar g§ñWm, ì¶mnmar ~±H$m, àmXo{eH$ 

J«m‘rU ~±H$m (RRBs) Am{U gmdH$ma 
 2) Zm~mS>©, [aPìh© ~±H$ Am°’$ B§{S>¶m (RBI), ì¶mnmar ~±H$m 

Am{U gmdH$ma  
 3) {Oëhm ‘Ü¶dVu ghH$mar ~±H$m (DCCB), AJ«Ur ~±H$m, 

Am¶AmaS>rnr (IRDP) Am{U OoAmadm¶ (JRY)  
 4) ‘moR>çm ñVamdarb ~hþCÔoer¶ Am{Xdmgr H$m¶©H«$‘, {Oëhm 

‘Ü¶dVu ghH$mar ~±H$m (DCCB), Am¶E’$E’$grAmo 
(IFFCO) Am{U ì¶mnmar ~±H$m 

Question no. 7 : “It is a monster made of rock with the 

head of a man and the body of a crouching lion, with its 

fore paws extended in front. The figure is over 18 mts 

high.”. The above description speaks about which famous 

historical monument? 

 1) The Great Sphinx of Greece  

 2)  The Sphinx of Assyria 

 3) The Sphinx of Egypt 

 4) The Sphinx of Mesopotamia 
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àíZ H«$. 7 : ‘‘mUgmMo S>moHo$ Am{U X~m Yê$Z ~gboë¶m qghmMo eara 
d nwT>Mo nm¶ g‘moa R>odbobo Aem XJS>mnmgyZ ~Z{dboë¶m AH«$mi{dH«$mi 

àmÊ¶mMr gw‘mao 18 ‘rQ>anojm C§M Aer AmH¥$Vr’ ho H$moUË¶m Eo{Vhm{gH$ 
ñ‘maH$mMo dU©Z Amho? 
 1) J«rg ‘Yrb J«oQ> pñ’̈$³g 2) A{g[a¶mMm pñ’¨$³g 
 3) B{OáMm pñ’¨$³g 4) ‘ogmnmoQ>o{‘¶mMm pñ’̈$³g 
Question no. 8 : Match the following 

Group I Group II 

A) Carbet National Park i) Madhya Pradesh 

B) Bandhavgad  Sanctury  ii) Rajasthan 

C) Sariska Wild Life Sanctury  iii) Uttaranchal 

D) Manas Tiger Reserve iv) Assam 

àíZ H«$. 8 : OmoS>çm Owidm. 

JQ> I JQ> II 

A) H$m~}Q> amï´>r¶ CÚmZ i) ‘Ü¶ àXoe 

B) ~m§YdJS> A^¶maÊ¶ ii) amOñWmZ 

C) gm[añH$m dÝ¶ Ord A^¶maÊ¶ iii) CÎmam§Mb 

D) ‘mZg ì¶mK« AmajU iv) Amgm‘ 

 1) A – iv    B – ii    C – iii     D – i 

 2) A – iii    B – i     C – ii     D – iv 

 3) A – iii    B – ii    C – i      D – iv 

 4) A – ii     B – i     C – iv    D – iii 

Question no. 9 : The Raghuram Rajan Committee was 

appointed to study ......... 

 1) the dispersal of industries and generation of 

employment. 

 2) the agrarian indebtedness and improvement in 

rural backwardness.  

 3) the problems confronting inclusive growth. 

 4) the regional backwardness and improvement in 

Development Index of the states. 

àíZ H«$. 9 : aKwam‘ amOZ g{‘VrMr {Z¶w³Vr ........ ¶mgmR>r H$aÊ¶mV 
Ambr hmoVr. 
 1) CÚmoJm§Mo {dVaU Am{U amoOJma{Z{‘©Vr 
 2) eoVrer {ZJS>rV H$O©~mOmarnUm Am{U J«m‘rU 

‘mJmgbonUmV gwYmaUm 
 3) g‘mdoeH$ dmT>rMo C{Ôï> gmÜ¶ H$aÊ¶mVrb AS>MUr 
 4) àmXo{eH$ ‘mJmgbonUm Am{U amÁ¶m§Mm {dH$mg {ZX}em§H$ 

gwYmaUo. 

Question no. 10 : Read the following statements. 

a) Quick Response code (QR code) is a 3–D code. 

b) It was first developed in 1994 in Japan by an automobile 

company Denso Wave. 

c) Scanning of QR can be done by special devices only. 

Which of the above sentences regarding QR code are 

incorrect? 

 1) a and c 2) a and b 3) b and c 4) a, b and c 

àíZ H«$. 10 : Imbrb {dYmZo dmMm. 
a) p³dH$ [añnm°Ýg H$moS> (³¶y Ama H$moS>) hm {Ì{‘Vr H$moS> Amho. 
b) S>oÝgmo doìh ¶m ñd¶§M{bV dmhZ H§$nZrÛmao OnmZ‘Ü¶o hm H$moS> 

1994 ‘Ü¶o àW‘ {dH${gV H$aÊ¶mV Ambm. 

c) QR H$moS>Mo dmMZ {deof gmYZm§ZrM Ho$bo OmD$ eH$Vo. 

¶mn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV? 

 1) a Am{U c 2) a Am{U b 3) b Am{U c  4) a, b Am{U c 

Question no. 11 : Railway Minister Suresh Prabhu recently 

announced that Tunnel Technology Institute will be 

established. In this context consider the following 

statements. Which of these statements are true? 

A) The institute will be established by the Konkan 

Railways. 

B) The institute will be established in Goa. 

C) It will be named after former Railway Minister George 

Fernandes. 

 1) A and B  2) B and C 

 3) All A, B and C 4) None of the above 

àíZ H«$. 11 : aoëdo ‘§Ìr gwaoe à^y ¶m§Zr ZwH$VrM ‘Q>Zob Q>o³Zm°bm°Or 
BpÝñQ>Q>çyQ>’ ñWmnZ H$aÊ¶m{df¶r KmofUm Ho$br. ¶m g§X^m©V Imbrb 
{dYmZm§Mm {dMma H$am. Ë¶mn¡H$s H$moUVr {dYmZo gË¶ AmhoV? 
A) hr BpÝñQ>Q>çyQ> H$moH$U aoëdoV’}$ ñWmnZ hmoB©b. 
B) hr BpÝñQ>Q>çyQ> Jmoì¶m‘Ü¶o ñWmnZ hmoB©b. 
C) {Vbm ‘mOr aoëdo ‘§Ìr Om°O© ’$Zmª{S>g ¶m§Mo Zmd XoÊ¶mV ¶oB©b. 
 1) A Am{U B  2) B Am{U C 
 3) gd© A, B Am{U C  4) darbn¡H$s H$moUVoM Zmhr. 
Question no. 12 :The product life cycle from inception to 

demise is shown in the graph. Match List I and with List II 

and select the correct answer using the codes given below. 

 

List I (Stage) 

A) Product Development 

B) Maturity 

C) Growth 

D) Introduction  

 

 

àíZ H«$. 12 : CËnmXZmÀ¶m gwédmVrnmgyZ Vo A§Vmn¶ªV Agm 
CËnmXZmÀ¶m OrdZMH«$mMm AmboI Imbr Xe©{dbm Amho. A hr ¶mXr ~ 
¶mXrer Owidm Am{U Imbr {Xboë¶m n¶m©¶m§n¡H$s ¶mo½¶ gm§Ho$Vm§H$ {ZdS>m. 
  

¶mXr A (Q>ßnm) 

A) CËnmXZ {Z{‘©Vr 

B) nyU© dmT> 

C) d¥Õr 

D) gwédmV 
 
 

 1) A – I       B – IV    C – II      D – III 

 2) A – I       B – IV    C – III    D – II 

 3) A – IV    B – I       C – II      D – III 

 4) A – IV    B – I       C – III    D – II 

Question no. 13 : Upanishads are books on ........ 

 1) Religion  2) Yoga 3) Philosophy    4) Law 

àíZ H«$. 13 : Cn{ZfXo hr ........ ¶mdarb nwñVHo$ AmhoV. 
 1) Y‘© 2) ¶moJ 3) VËdkmZ 4) H$m¶Xm 
Question no. 14 : The ministry of Information and 

Broadcasting reconstituted the Central Press Accreditation 

Committee (CPAC) recently. In this context consider the 

following statements. Which of these is /are correct? 

A) The CPAC issues Press Information Bureau (PIB) cards 

to journalist. 

B) PIB Director General Vijay Malhotra is the ex-officio 

chairman of the committee. 

 1) Only A  2) Only B 

 3) Both A and B 4) Neither A nor B 

(I) 
(II) 

(III) (IV) (V) 

{dH«$s 

Z’$m 
H$mi 

VmoQ>m/Jw§VdUyH$ 

Z’$m/ 
{dH«$s 

¶mXr ~ ({d^mJ) 

(I) 
(II) 

(III) (IV) (V) 

sales 

profit 

Time 

lost/Investment 

Profit/

Sales 
List II (Zone) 
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àíZ H«$. 14 : ‘m{hVr d àgmaU ‘§Ìmb¶mZo H|$Ðr¶ dmVm© ‘mÝ¶Vmàmár 
g{‘Vr (CPAC) Mr ZwH$VrM nwZ~mªYUr Ho$br. ¶mg§X^m©V Imbrb 
{dYmZm§Mm {dMma H$am d Ë¶mVrb H$moUVo/Vr gË¶ Amho/V? 

A) gr.nr.E.gr. nÌH$mam§Zm àog BÝ’$m°‘}eZ ã¶wamo n{ÌHo$Mo {dVaU H$aVo. 

B) nr.Am¶.~r. g§MmbH$ {dO¶ ‘ëhmoÌm hoM g{‘VrMo nX{gÕ AÜ¶j 
AmhoV. 

 1) ’$³V A  2) ’$³V B 

 3) A Am{U B XmoÝhr 4) Zm A Zm B 

Question no. 15 : Which of the following states are 

demanding special status? 

 1) Odisha, Himachal Pradesh, West Bengal, Assam. 

 2) Bihar, Chhattisgad, Zarkhand, Goa, Odisha, 

Rajasthan 

 3) Bihar, Rajasthan, Goa, Madhy Pradesh, Uttar 

Pradesh 

 4) Meghalaya, Haryana, Zarkhand, Karnatak, Goa 

àíZ H«$. 15 : Imbrbn¡H$s H$moUVr amÁ¶o {deof XOm© {‘imdm åhUyZ 
‘mJUr H$arV AmhoV? 

 1) Amo{S>gm, {h‘mMbàXoe, npíM‘ ~§Jmb, Amgm‘ 

 2) {~hma, N>ÎmrgJS>, PmaI§S>, Jmodm, Amo{S>gm, amOñWmZ 

 3) {~hma, amOñWmZ, Jmodm, ‘Ü¶àXoe, CÎma àXoe 

 4) ‘oKmb¶, ha¶mZm, PmaI§S>, H$Zm©Q>H$, Jmodm 

Question no. 16 : Identify the correct pair of genetic 

diseases from the following. 

 1) Diabetes – Gangrene 

 2) Heart disease – Malaria 

 3) Haemophilia – Colourblindness 

 4) Blood cancer – Neural disease 

àíZ H«$. 16 : Imbrbn¡H$s JwUgyÌr¶ amoJmMr ¶mo½¶ OmoS>r AmoiIm. 

 1) ‘Yw‘oh - H$moW 

 2) öX¶amoJ - ‘bo[a¶m 

 3) A{YH$a³Vómd - a§Jm§YionUm 

 4) a³VmMm H$H©$amoJ - MoVm amoJ 

Question no. 17 : Identify the rivers A, B, C, D, E and F in 

the map given below. 

 1) A – Kosi  B – Ghagra   C – Gandak   D – Yamuna 

  E – Ganga   F – Son 

 2) A – Ghagra  B – Gandak   C – Kosi   D – Yamuna 

  E – Ganga   F – Son 

 3) A – Kosi   B – Gandak   C – Son   D – Ganga 

  E – Yamuna   F – Ghagra 

 4)  A – Ghagra   B – Son   C – Gandak   D – Ganga 

  E – Yamuna   F – Kosi 

 
 
 
 
 
 
 
 

àíZ H«$. 17 : darb ZH$memVrb A, B, C, D, E Am{U F  ¶m ZÚm 
AmoiIm. 
 1) A - H$mogr   B - KmJam   C - J§S>H$   D - ¶‘wZm 
  E - J§Jm   F - emoZ 
 2) A - KmJam   B - J§S>H$   C - H$mogr   D - ¶‘wZm 
  E - J§Jm   F - emoZ 
 3) A - H$mogr   B - J§S>H$   C - emoZ   D - J§Jm 
  E - ¶‘wZm   F - KmJam 
 4) A - KmJam  B - emoZ   C - J§S>H$   D - J§Jm 
  E - ¶‘wZm   F - H$mogr 
Question no. 18 : Which among the following is an 

indicator of the Human Development Index?  

 1) Education                     2) Average Life expectancy 

 3) GDP                     4) All of the above 

àíZ H«$. 18 : Imbrbn¡H$s H$moUVm KQ>H$ ‘mZd {dH$mg {ZX}em§H$mV 
g‘m{dï> Ho$bm OmVmo? 
 1) {ejU  2) gamgar Am¶w‘m©Z 
 3) ñWyb Xoem§VJ©V CËnmXZ 4) darb gd© 
Question no. 19 : Match the following. 

Author Age 

i) Sudraka a) Amarkosha 

ii) Varahamihira b) Bruhad Samhita 

iii) Vishnu Sharma c) Mrichcha  Katika 

iv) Amarsimha d) Panchatantra  

 e) Hitopdesha 

àíZ H«$. 19 : Imbrb OmoS>çm Owidm. 

boIH$ H$mi 

i) ewÐH$ a) A‘aH$moe 

ii) damh{‘{ha b) ~¥hVg§{hVm 
iii) {dîUye‘m© c) ‘¥ÀN>H${Q>H$ 

iv) A‘aqgh d) n§MV§Ì 

 e) {hVmonXoe 

 1) i – b,    ii – e,    iii – c,    iv – d 

 2)  i – c,    ii – b,    iii – d,    iv – a 

 3)  i – d,    ii – c,    iii – a,    iv – b 

 4)  i – e,    ii – a,    iii – a,    iv – c 

Question no. 20 : Which of the following winds are cold 

winds? 

A) Sirocco  B) Bora  C) Khamsin   D) Mistral  E) Salano 

 1) B and D  2) A and E 

 3) C and D  4) B and E 

àíZ H«$. 20 : Imbrbn¡H$s H$moUVo dmao erVdmao AmhoV? 

A) {gamo¸$mo   B) ~moam   C) Im‘grZ   D) {‘ób   E) g°b°Zmo 
 1) B Am{U D  2) A Am{U E 

 3) C Am{U D  4) B Am{U E 
Question no. 21 : What is the ultimate gain from 

affirmative actions in India? 

a) They promote social justice and equality. 

b) They influence policy making 

c) They bring in more accountability in society. 

d) They create a more homogenous society. 

 1) a and b 2) b and c 3) only d 4) only a 

 

A 
B C 

D 

E 

F 
Ganga 
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àíZ H«$. 21 : ^maVmVrb {dYm¶H$ H¥$VrVyZ A§{V‘V: H$m¶ gmÜ¶ 
hmoVo? 

A) {dYm¶H$ H¥$Vr‘wio gm‘m{OH$ Ý¶m¶ d g‘Vm dmT>Vo. 

~) YmoaU {Z{‘©Vrda Ë¶m§Mm à^md nS>Vmo. 

H$) Vo g‘mOmV A{YH$ CÎmaXm{¶ËdmMr ^mdZm AmUVmV. 

S>) Vo A{YH$ EH${OZgr g‘mO {Z‘m©U H$aVmV. 

 1) A Am{U ~  2) ~ Am{U H$  

 3) ’$³V S>  4) ’$³V A 

Question no. 22 : Which of the following statements are 

true? 

A) The tilt of earth’s axis of rotation as earth revolves 

around the sun is the cause of seasons on earth. 

B) Emission of carbon dioxide from burning of  fossil fuel 

is most likely a cause of rise in average temperature of 

earth’s atmosphere in future. 

C) The accumulation of stress along the boundaries of 

lithospheric plates results in hurricanes. 

 1) A and B are correct 2) B and C are correct 

 3) A and C are correct 4) All are correct. 

àíZ H«$. 22 : Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV? 

A) n¥Ïdr gy¶m©̂ modVr ^«‘U H$aV AgVmZm n¥ÏdrÀ¶m n[a^«‘UmÀ¶m 
AmgmMm H$b ho n¥Ïdrdarb F$Vy§Mo H$maU Amho. 

B) Ordmí‘ B§YZmÀ¶m ÁdbZm‘wio hmoUmè¶m H$m~©Z S>m¶ Am°³gmB©S>Mo 
CËgO©Z ho ^{dî¶mV n¥ÏdrÀ¶m dmVmdaUmÀ¶m gamgar 
Vmn‘mZdmT>rMo H$maU Agy eHo$b. 

C) ~mødaUmÀ¶m ŷnÅ>mÀ¶m gr‘oda Pmboë¶m à{V~bmÀ¶m g§M¶Zm‘wio 
dmXio {Z‘m©U hmoVmV. 

 1) A Am{U B ~amo~a Amho. 2) B Am{U C ~amo~a Amho 

 3) A Am{U C ~amo~a Amho. 4) gd© ~amo~a Amho. 

Question no. 23 : Who amongst the following was 

appointed by Union Government as first President of newly 

established All India Council of Sports (AICS) which was 

given an equivalent rank of a Minister of State (MoS) in the 

Union Council of Ministers? 

 1) Sachin Teudulkar 2) Vijay Kumar Malhotra 

 3) Krishna Malhotra 4) P. T. Usha 

àíZ H«$. 23 : H|$Ð gaH$maZo ZdrZM àñWm{nV Ho$boë¶m A{Ib 
^maVr¶ H«$sS>m g{‘VrMm n{hbm AÜ¶j åhUyZ Imbrbn¡H$s H$moUmMr 
Zo‘UyH$ Ho$br? ¶m AÜ¶jm§Zm H|$Ðr¶ ‘§Í¶m§n¡H$s amÁ¶ ‘§Í¶mMm XOm© {Xbm 
Jobm Amho. 

 1) g{MZ V|Sw>bH$a 2) {dO¶ Hw$‘ma ‘ëhmoÌm 

 3) H¥$îU ‘ëhmoÌm 4) nr. Q>r. Cfm 

Question no. 24 : In India, rural incomes are generally 

lower than the Urban incomes. Which of the following 

reasons account for this? 

A) A large number of farmers are illiterate and know little 

about scientific agriculture. 

B) Prices of primary products are lower than those of 

manufactured products. 

C) Investment in agriculture has been low when compared 

to investment in industry. 

 1) A and C  2) A and B 

 3) A, B and C 4) B and C 

àíZ H«$. 24 : ^maVm‘Ü¶o gd©gmYmanUo J«m‘rU CËnÞ ho ehar 
CËnÞmnojm H$‘r AgVo. ¶mgmR>r Imbrbn¡H$s H$moUVr H$maUo AmhoV? 
A) eoVH$ar ‘moR>çm à‘mUmV A{e{jV AmhoV Am{U Ë¶m§Zm emór¶ 

nÕVrZo eoVr H$aÊ¶m~m~V H$‘r ‘m{hVr Amho. 
~) àmW{‘H$ CËnmXZmÀ¶m {H$‘Vr ¶m Am¡Úmo{JH$ CËnmXZmÀ¶m 

{H$‘Vrnojm H$‘r AmhoV. 
H$) CÚmoJm§nojm eoVr‘Ü¶o J§wVdUyH$ H$‘r hmoVoo. 
 1) A Am{U H$  2) A Am{U ~ 
 3) A, ~ Am{U H$ 4) ~ Am{U H$ 

Question no. 25 : The world’s first ever ant map, at 

(antmaps.org), showing the distribution of ants around the 

globe, was launched by which of the following 

Universities? 

 1) Yale 2) Peking 3) Sussex 4) Hongkong 

àíZ H«$. 25 : Imbrbn¡H$s H$moUË¶m {dÚmnrR>mZo OJmVrb ‘w§½¶m§Mm 
n{hbm d{hbm ZH$mem (antmaps.org) ‘m§S>bm Á¶mV {dœmVrb ‘w§½¶m§Mo 
{dVaU Xe©dÊ¶mV Ambo Amho? 

 1) ¶ob 2) noqH$J 3) ggo³g 4) hm±JH$m±J 

Question no. 26 : Which of the following statements is not 

true? 

A) Painganga is a tributary of Godavari. 

B) Nizam Sagar dam is constructed on Shabari River. 

C) River Narmada flows through rift valley. 

D) In Maharashtra Godavari basin covers the largest area. 

 1) A and B  2) B and C 

 3) C and D  4) A and D 

àíZ H«$. 26 : Imbrb {dYmZm§n¡H$s H$moUVr gË¶ ZmhrV? 

A) n¡ZJ§Jm hr JmoXmdarMr CnZXr Amho. 

B) {ZPm‘ gmJa YaU e~ar ZXrda ~m§Ybo Amho. 

C) Z‘©Xm ZXr IMXar‘YyZ dmhVo. 

D) ‘hmamï´>m‘Ü¶o JmoXmdarÀ¶m Imoè¶mMo joÌ gdm©V OmñV Amho. 

 1) A Am{U B  2) B Am{U C 

 3) C Am{U D  4) A Am{U D 

Question no. 27 : The existence of Rajya Sabha can be 

justified on certain grounds. Identify the correct 

ground/grounds for the same. 

a) It is the custodian of state rights. 

b) It institutionlises the opportunity for the second 

thoughts.   

c) It brings competent people in governance. 

d) It prevents healthy debates and discussions. 

 1) a is true, b is false 2) d is true c is false 

 3) a, b and c are true 4) only a is true 

àíZ H«$. 27 : amÁ¶g^oÀ¶m ApñVËdmMo g‘W©Z H$ê$ eH$Umar H$mhr 
H$maUo Imbr {Xbr AmhoV. Ë¶mn¡H$s ¶mo½¶ H$maU/H$maUo 
H$moUVo/H$moUVr? 

A) amÁ¶g^m amÁ¶m§À¶m h¸$mMo ajU H$aVo. 

~) nwZ{d©MmamgmR>r g§ñWmË‘H$ g§Yr XoVo. 

H$) H$m¶©j‘ ì¶³Vr emgZ ì¶dhmamV AmUVo. 

S>) {ZH$mon MMm© dmX{ddmXmbm à{V~§Y H$aVo. 

 1) A ~amo~a, ~ MyH$ 2) S> ~amo~a, H$ MyH$ 

 3) A, ~ Am{U H$ ~amo~a 4) ’$³V A ~amo~a 
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Question no. 28 : Match the following pairs properly. 

Column P Column R 

A) Galium K) Liquid nonmetal 

B) Intencity of earthquake  L) Decibel 

C) Intencity of sound M) Liquid metal 

D) Bromine  N) Richter 

àíZ H«$. 28 : Imbrb OmoS>çm ¶mo½¶ [aVrZo Owidm. 

ñV§^  P ñV§^ R 

A) J°{b¶‘ K) Ðdê$n AYmVy 

B) ŷH§$nmMr Vrd«Vm L) S>o{g~b 

C) ÜdZrMr Vrd«Vm M) Ðdê$n YmVy 

D) ~«mo{‘Z N) [aíQ>a 

 1) A – K,     B – N,    C – L,    D – M 

 2) A – M,    B – L,    C – N,    D – K 

 3) A – K,     B – L,    C – N,    D – M 

 4) A – M,    B – N,    C – L,    D – K 

Question no. 29 : In an open economy, the national income 

(Y) of the economy is ........; (C, I, G, X, M stand for 

Consumption, Investment, Government Expenditure, Total 

Exports, Total Imports respectively) 

àíZ H«$. 29 : Iwë¶m AW©ì¶dñWo‘Ü¶o, AW©ì¶dñWoMo amḯ>r¶ CËnÞ 
(Y) ho ........ Ago AgVo. (C, I, G, X, M ho AZwH«$‘o Cn^moJ, 
Jw§VdUyH$, gaH$mar IM©, EHy$U {Z¶m©V, EHy$U Am¶mV Xe©{dVmV.) 

 1) Y = C + I + G + X 

 2) Y = C + I + G – X + M 

 3) Y = C + I + G + (X – M) 

 4) Y = C + I – G + X – M 

Question no. 30 : Which amongst the following statements 

are correct about cricket? 

a) During the reign of Queen Victoria, the game was 

introduced as the standard summer sport in English 

public schools and universities. 

b) The modern weight of the ball was laid down in 1774. 

c) The cricket helmet became an essential part of a 

batsman’s attire in the 1970’s. 

d) Trousers replaced half pants during the 1st half of the 

19th century. 

àíZ H«$. 30 : Imbrbn¡H$s H$moUVr {dYmZo {H«$Ho$Q>À¶m ~m~V ¶mo½¶ 
AmhoV? 
a) amUr pìh³Q>mo[a¶mÀ¶m amOdQ>rV hm Ioi B§p½be npãbH$ emim Am{U 

{dÚmnrR>mV CÝhmir à‘mU^yV Ioi åhUyZ gwê$ H$aÊ¶mV Ambm. 
b) 1774 ‘Ü¶o M|Sy>Mo AmYw{ZH$ dOZ R>a{dbo Jobo. 
c) 1970 À¶m XeH$m‘Ü¶o ‘hoë‘oQ>’ ’$b§XmOmÀ¶m JUdoemMm Amdí¶H$ 

^mJ Pmbm. 
d) 19 ì¶m eVH$mÀ¶m n{hë¶m AÜ¶m© eVH$mV hm’$n±Q>Mr OmJm 

’w$bn±Q>Zo KoVbr 
 1) a, b, d 2) c, b, d 3) a, c, b 4) a, b, c, d 

Question no. 31 : Which of the following is not a 

characteristic of tropical cyclone? 

A) Pressure gradient is very steep. 

B) They are large in size. 

C) The direction of wind in Tanzania is anticlockwise. 

D) The cyclone travels from east to west. 

 1) A and B  2) B and C 

 3) C and D  4) A and D 

 

àíZ H«$. 31 : Imbrbn¡H$s H$moUVr d¡{eîQ>ço CîUH${Q>~§Yr¶ AmdVm©Mr 
ZmhrV? 
A) Xm~mMm CVma Vrd« AgVmo. 
B) Ë¶m§Mo joÌ ‘moR>o AgVo. 
C) dmè¶mMr {Xem Q>m§Pm{Z¶m‘Ü¶o à{VK{Q>dV AgVo. 
D) AmdV© nyd}H$Sy>Z npíM‘oH$S>o àdmg H$aVmV. 
 1) A Am{U B  2) B Am{U C 
 3) C Am{U D  4) A Am{U D 
Question no. 32 : Which of the following is the latest 

contribution to India’s foreign policy? 

 1) Look East policy 

 2) Demand for a permanent seat in the UN Security  

      Council 

 3) Act East Policy 

 4) International Yoga Day 

àíZ H«$. 32 : ^maVmÀ¶m naamï´> YmoaUmV AbrH$S>oM H$moUË¶m KQ>H$mMr 
^a nS>br Amho? 
 1) nyd}H$S>o nhm 
  2) g§¶w³V amḯ>m§À¶m gwajmn[afXoV H$m¶‘ gXñ¶ËdmMr ‘mJUr 
 3) nyd}gmR>r H¥$Vr H$am. 
 4) Am§Vaamï´>r¶ ¶moJ {XZ 
Question no. 33 : Read the following statements. 

a) ‘International Thermonuclear Experimental Reactor’ 

(ITER) project is founded in collaboration by America, 

China, India only. 

b) As a part of this project a reactor named tokamak is 

being built up in France. 

c) It is proposed that it will consume 50 MW electricity 

and produce 500 MW electricity. 

d) Isotope of oxygen on atomic fusion will produce such 

large energy. 

Which of the above sentences are true regarding ITER 

project? 

 1) a and d 2) b and c 3) a and b 4) a, b and c 

àíZ H«$. 33 : Imbrb {dYmZo dmMm. 
a) Am§Vaamï´>r¶ AUwAm¡pîUH$ àm¶mo{JH$ ^Å>r (ITER) àH$ënmMr 

ñWmnZm ’$³V A‘o[aH$m MrZ d ^maV ¶m§À¶m ghH$m¶m©Zo Amho. 
b) ¶m CnH«$‘mMm ^mJ åhUyZ Q>moH°$‘°H$ ZmdmMr AUw^Å>r ’«$mÝg ¶oWo 

~m§YÊ¶mV ¶oV Amho. 
c) 50 MW drO IM©yZ 500 MW drO V¶ma hmoB©b Ago àñVm{dV 

H$aÊ¶mV Ambo Amho. 
d) Am°p³gOZÀ¶m g‘ñWm{ZH$m§À¶m g§‘rbZmVyZ Aer Iyn D$Om© 

{Z‘m©U hmoB©b. 
ITER CnH«$‘mg§~§Yr darbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?  
 1) a Am{U d  2) b Am{U c 

 3) a Am{U b  4) a, b Am{U c  
Question no. 34 : Agriculture income tax is assigned to the 

state government by ....... 

 1) The Finance Commission 

 2) The National Development Council 

 3) The Inter – State Council 

 4) The Constitution of India 

àíZ H«$. 34 : H¥$fr CËnÞ H$amgmR>r amÁ¶ gaH$maMr {Z¶w³Vr ........ 
Zo Ho$br. 
 1) {dÎm Am¶moJ  2) amï´>r¶ {dH$mg n[afX 
 3) Am§Va-amÁ¶ n[afX 4) ^maVr¶ amÁ¶KQ>Zm 
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Question no. 35 : In the Gupta Age, the daily commodities 

were available in exchange of ........ 

 1) Cowries  2) Copper currency 

 3) Silver coins  4) Gold currency 

àíZ H«$. 35 : Jwá H$mimV X¡{ZH$ Cn¶w³V dñVy ........ À¶m ~Xë¶mV 
CnbãY hmoV AgV. 
 1) H$dS>r  2) Vm‘« MbZ 
 3) aOV ZmUr  4) gwdU© MbZ 
Question no. 36 : Match the following. 

Coal Deposits  Countries 

A) Shanxi i) Germany 

B) Ruhr basin ii) Russia 

C) Queensland iii) China 

D) Irkutsk iv) Austrelia 

àíZ H«$. 36 : OmoS>çm bmdm. 

H$moiemMo gmR>o Xoe 

A) emZ³gr i) O‘©Zr 

B) éèh Imoao ii) a{e¶m 

C) ³drÝgb§S> iii) MrZ 

D) BaHw$Q>ñH$ iv) Am°ñQ´>o{b¶m 
 1) A – i      B – iii     C – ii      D – iv 

 2) A – iii    B – ii      C – i       D – iv 

 3) A – iii    B – i       C – iv     D – ii 

 4) A – i      B – iv     C – ii      D – iii 

Question no. 37 : The role of BRICS bank is ........ 

a) to create a parallel financial system in the world. 

b) to reduce the monopoly of IMF and world Bank. 

c) to provide assistance for development to poor countries. 

d) to create an economic power block.  

 1) only a and b 2) a, b, c, d 

 3) only d  4) only b and c 

àíZ H«$. 37 : {~«³g ~±Ho$Mr ^y{‘H$m ........ Amho. 
A) OJmV g‘m§Va Am{W©H$ ì¶dñWm {Z‘m©U H$aUo. 
~) Am§Vaamï´>r¶ ZmUo{ZYr d OmJ{VH$ ~±H$ ¶m§Mr ‘³VoXmar H$‘r H$aUo. 
H$) Jar~ Xoem§Zm {dH$mgmgmR>r gmhmæ¶ H$aUo. 
S>) Am{W©H$ gÎmmJQ> {Z‘m©U H$aUo. 
 1) ’$³V A Am{U ~ 2) A, ~, H$, S> 
 3) Ho$di S>  4) Ho$di ~ Am{U H$ 
Question no. 38 : Virus having RNA as a genetic material 

is called as ........ 

 1) Retrovirus 2) Rotavirus 

 3) Protovirus 4) Transposons 

àíZ H«$. 38 : {dfmUy§‘Ü¶o Ama. EZ. E. JwUgyÌr¶ nXmW© AmhoV Aem 
{dfmUw§Zm ........ åhUVmV. 
 1) à{V{dfmUy  2) amoQ>m {dfmUy 
 3) Am{X{dfmUy  4) Q´>m§gnmoOmoÝg 
Question no. 39 : Which one of the following ‘Smriti’s is 

regarded as the official law book of the Guptas? 

 1) Manu Smriti 2) Yajnavalkya Smriti 

 3) Narada Smriti 4) Brihaspati Smriti 

àíZ H«$. 39 : Imbrbn¡H$s H$moUË¶m ñ‘¥{V øm JwáH$mbrZ A{YH¥$V 
H$m¶ÚmMo nwñVH$ åhUyZ g‘Obo OmV hmoVo? 
 1) ‘Zwñ‘¥{V  2) ¶mkdë³¶ ñ‘¥{V 
 3) ZmaX ñ‘¥{V  4) ~¥hñn{V ñ‘¥{V 

Question no. 40 : Which of the following are manganese 

ores? 

A) Limonite   B) Pyrolusite   C) Siderite   E) Rhodochrosite 

 1) A and C  2) B and C 

 3) A and D  4) B and D 

àíZ H«$. 40 : Imbrbn¡H$s H$moUVo ‘±JZrOMo I{ZO AmhoV? 
A) {b‘moZmBQ>   B) nm¶amobwgmBQ>   C) {gS>oamBQ>  D) èhmoS>moH«$mogmBQ> 
 1) A Am{U C  2) B Am{U C 

 3) A Am{U D  4) B Am{U D 
Question no. 41 : The Public Accounts Committee is 

expected to ........ 

a) provide a link between the parliament and executive. 

b) assess the needs of the states. 

c) act as a mediator between Lok Sabha and Rajya Sabha. 

d) Prevent unlawful expenditure by the executive. 

 1) only a 2) only b 3) only d 4) a and d 

àíZ H«$. 41 : Imbrbn¡H$s H$moUË¶m ~m~r bmoH$boImg{‘VrZo H$aUo 
Ano{jV Amho? 
A) g§gX Am{U H$m¶©H$mar ‘§S>i ¶m§À¶mVrb Xþdm åhUyZ H$m‘ H$aUo. 
~) amÁ¶m§À¶m JaOm§Mo narjU H$aUo. 
H$) bmoH$g^m d amÁ¶g^m ¶m§À¶mV ‘Ü¶ñWr H$aUo. 
S>) H$m¶©H$mar ‘§S>imMm ~oH$m¶Xoera IM© Wm§~{dUo. 
 1) ’$³V A 2) ’$³V ~ 3) ’$³V S> 4) A Am{U S> 
Question no. 42 : Liver, muscle and adipose tissues are 

affected by ........ 

 1) progesterone 2) Glucagon 

 3) Androgen  4) Insulin 

àíZ H«$. 42 : ¶H¥$V, ñZm¶y Am{U ‘oXCVrda .......... Mm n[aUm‘ 
hmoVmo. 
 1) àmoOñQ>oam°Z 2) ½bwH°$Jm°Z 3) A±S´>moOZ 4) BÝew{bZ 
Question no. 43 : Which Chalukyan town is known as the 

“Town of Temples”? 

 1) Aihole 2) Badami 3) Kanchi 4) Pattadakal 

àíZ H«$. 43 : H$moUVo Mmbw³¶Z eha “‘§{Xam§Mo eha”  åhUyZ 
AmoiIbo OmV hmoVo? 
 1) Eohmoio 2) ~Xm‘r 3) H$m§Mr 4) nÅ>S>H$b 
Question no. 44 : Which of the following combination of 

symbols represents the same sheets or charts?  

àíZ H«$. 44 : Imbrbn¡H$s gm§Ho${VH$ {MÝhm§Mo H$moUVo EH${ÌH$aU 
V³Ë¶mV ~amo~a Amho? 

 1)  

 2)  P            S 

 3) RF  GC  R.H. 

 4)  

Question no. 45 : In which of the following countries the 

Shanbag movement is active? 

 1) Bangla Desh 2) Pakistan 

 3) Afganistan 4) Syria 

àíZ H«$. 45 : Imbrbn¡H$s H$moUË¶m XoemV emZ~mJ Midi gH«$s¶ 
Amho? 
 1) ~m§Jbm Xoe   2) nm{H$ñVmZ 
 3) A’$Jm[UñVmZ 4) {gar¶m 
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Question no. 46 : Which of the following is a scalar 

quantity? 

 1) Force  2) Velocity 

 3) Pressure  4) Acceleration 

àíZ H«$. 46 : Imbrbn¡H$s H$moUVr amer A{Xe Amho? 
 1) ~b 2) JVr 3) Xm~ 4) àdoJ 
Question no. 47 : The Junagarh Rock Inscription of 

Skandagupta in Sanskrit is written in praise of ........ 

 1) Vishnu 2) Indra 3) Shiva 4) Agni 

àíZ H«$. 47 : g§ñH¥$V‘Ü¶o ñH§$XJwámMo OwZmJS> erbmboI ho ........ À¶m 
ñVwVrH$aVm {b{hbo AmhoV. 
 1) {dîUy 2) B§Ð 3) {ed 4) A{¾ 
Question no. 48 : The area of a tropical rain forest is 

largest in ........ river valley. 

 1) Nile  2) Mahaveli Ganga 

 3) Zaire  4) Nigro 

àíZ H«$. 48 : CîUH${Q>~§Yr¶ dfm©dZm§Mo joÌ ........ ZXrÀ¶m Imoè¶mV 
gdm©V OmñV Amho. 
 1) ZmB©b  2) ‘hmdobr J§Jm 
 3) Pm¶ao  4) {ZJ«mo 
Question no. 49 : Consider the following statements and 

choose the correct alternative. 

A) One does not find double citizenship in the Indian 

Constitution. 

B) Indians are culturally plural and diverse but politically 

they constitute one nation. 

 1) A is true, B is wrong 

 2) B is the correct explanation of A 

 3) Both the statements are wrong 

 4) A and B both are true 

àíZ H«$. 49 : Imbrb {dYmZo {dMmamV ¿¶m d ¶mo½¶ n¶m©¶ {ZdS>m. 
A) ̂ maVr¶ g§{dYmZmV Xþhoar ZmJ[aH$Ëd AmT>iV Zmhr. 
~) ^maVr¶ bmoH$ ~hþb gm§ñH¥${VH$ Am{U {d{dYVm Agbobo AmhoV nU 

amOH$s¶ ÑîQ>çm ‘mÌ Vo EH$mM amï´>mMo KQ>H$ AmhoV. 
 1) A ~amo~a, ~ MyH$. 
 2) ~ ho A Mo ¶mo½¶ ñnï>rH$aU Amho. 
 3) XmoÝhr {dYmZo MyH$ AmhoV. 
 4) A Am{U ~ XmoÝhr {dYmZo ~amo~a. 
Question no. 50 : Which of the following are sensitive to 

sulphur dioxide pollution? 

 1) Algae 2) Mosses 3) Lichens 4) Ferns  

àíZ H«$. 50 : gë’$a S>m¶ Am°³gmB©S>À¶m àXþfUmbm Imbrbn¡H$s H$moU 
g§doXZerb AgVmV? 
 1) e¡dmb 2) ‘m°g 3) e¡dmH$ 4) ZoMo 

 

 

PART – II / ^mJ - 2 

Question nos. 51 to 53 : The supervisor would have to first 

change his attitude towards people. The staff under him 

must be perceived as human beings with feelings and 

needs. They are not autonomous within a complex work 

machinery. One of the greatest needs of a worker today is 

to have a feeling that he is in control of his workplace and 

not vice versa. The best way is to satisfy this need as far as 

possible. Firstly, he must feel that his work is meaningful. 

To do this, the supervisor must delegate responsibility and 

give limited authority to the worker to execute his job well. 

The worker must be properly trained to assume 

responsibility and authority. Once he is ready to assume 

these, he can be made accountable for his job. Very often 

supervisors assume all responsibility and accountability for 

the fear of losing control of the workplace. This reduces the 

workers under him to pawns on a chess-board. Delegating 

accountability gives the worker a purpose in life and creates 

in him the need to do the job well. The most important 

thing to do is to sit with each worker and chalk out common 

objectives and agreed norms to achieve them. This makes 

workers secure about what is expected of them. Thus, when 

he meets his objectives, he certainly has a feeling of 

achievement. This sense of achievement is the greatest 

motivator. 

51 : Supervisors do not delegate responsibility and 

authority to their subordinates because ........ 

 1) the final responsibility is theirs. 

 2) subordinates are not capable enough. 

 3) they can’t trust their subordinates. 

 4) they are apprehensive of losing their hold on the 

     workplace. 

52 : The greatest motivator is ........ 

 1) the fulfillment of purpose. 

 2) a sense of security. 

 3) a good supervisor. 

 4) a good environment. 

53 : A humane attitude on the part of the supervisor 

towards his staff is necessary to ........ 

 1) keep them happy. 

 2) get them to work. 

 3) get the best out of them. 

 4) have a congenial atmosphere at the workplace. 

 
àíZ H«$. 51 Vo 53 : gd©àW‘ n¶©dojH$mbm bmoH$m§{df¶rMr Amnbr 
d¥Îmr ~Xbmdr bmJob. Amnë¶m hmVmImbMo bmoH$ ho ‘Zwî¶ AgyZ Ë¶m§Zm 
^mdZm d JaOm AmhoV ho AmH$bZ Agbo nm{hOo. Vo H$mhr OQ>rb H$m¶© 
¶§ÌUoVrb ñdm¶Îm ^mJ ZìhoV. AmOÀ¶m H$m‘JmamMr EH$ gdm©V ‘moR>r 
JaO åhUOo hr ^mdZm H$s Ë¶mMr H$m‘mMr OmJm Ë¶mÀ¶m Vmã¶mV Amho, 
hr Zìho H$s Vmo {VÀ¶m Vmã¶mV Amho. hr Ë¶mMr ^md{ZH$ JaO ^mJdUo ho 
gdm©V CÎm‘. àW‘ Ë¶mbm Ago dmQ>bo nm{hOo H$s Ë¶mMo H$m‘ ho AW©nyU© 
Amho. ho H$aÊ¶mgmR>r n¶©dojH$mZo Ë¶mÀ¶mda O~m~Xmar Q>mHy$Z Ë¶mbm 
H$mhr gr{‘V A{YH$mahr {Xbo nm{hOoV åhUOo Vmo Amnbo H$m‘ 
ì¶dpñWV nma nmS>ob. Amnbr O~m~Xmar d Amnbo A{YH$ma pñdH$maVm 
¶mdo ¶mgmR>r Ë¶mbm ¶mo½¶ à{ejU {Xbo nm{hOo. Ooìhm Vmo ho 
pñdH$maÊ¶mg {gÕ hmoB©b Voìhm Ë¶mbm Ë¶mÀ¶m H$m‘m{df¶r O~m~Xma 
‘mZVm ¶oB©b. ~hþVoH$ doim n¶©dojH$ ñdV…M gd© O~m~Xmar d 
A{Zdm©ƒVm KoV AgVmo ZmhrVa Ë¶mMm H$m‘mÀ¶m OmJodaMm Vm~m gwQ>ob 
Aer Ë¶mbm ^rVr AgVo. AemZo Ë¶mÀ¶m hmVmImbMo H$m‘Jma ho Ho$di 
~wÕr~imÀ¶m nQ>mdarb ‘mohao ~ZVmV. O~m~Xmar dmQy>Z {Xë¶mZo 
H$m‘Jmam§Zm Am¶wî¶mV EH$ CÔoe àmá hmoVmo Am{U Amnbo H$m‘ ì¶dpñWV 
H$aÊ¶mMr JaO XoIrb dmQ>Vo. àË¶oH$ H$m‘Jmam~amo~a ~gyZ gm‘mÝ¶ 
Ü¶o¶ ‘m§S>Uo d Vo àmá H$aÊ¶mg ‘mÝ¶ Agbobo {Z¶‘ Ë¶mbm g‘OmdUo 
ho gdm©V ‘hÎdmMo Amho. ¶m‘wio H$m‘Jmam§Zm Ë¶m§À¶mH$Sy>Z Oo Ano{jV 
Amho Ë¶mMr ImÌr dmQ>Vo. ‘J Ooìhm Ë¶m§Zm {Xbobo Ü¶o¶ nyU© hmoVo Voìhm 
Ë¶m§Zm Vo gmYë¶mMo g‘mYmZ dmQ>Vo. hoM g‘mYmZ Ë¶m§À¶mgmR>r gdmªV 
‘moR>r àoaUm AgVo. 
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51 : n¶©dojH$ Amnë¶m H${Zð>m§Zm O~m~Xmar XoV ZmhrV H$maU ........ 
 1) A§{V‘ O~m~Xmar Ë¶m§MrM AgVo. 
 2) H${Zð> H$m¶©j‘ ZgVmV. 
 3) Ë¶m§Mm H${Zð>m§da {dídmg ZgVmo. 
 4) Amnë¶m hmVyZ A{YH$ma {ZgQy>Z OmB©b ¶mMr Ë¶m§Zm ^rVr 
     AgVo. 
52 : gdm©V ‘moR>r àoaUm ........ hr AgVo. 
 1) Ü¶o¶ gmYë¶mMo g‘mYmZ 
 2) gwa{jVVoMr ^mdZm 
 3) CÎm‘ n¶©dojH$ 
 4) CÎm‘ n¶m©daU 
53 : n¶©dojH$mZo H$‘©Mmè¶m§{df¶r X¶mÐ© d¥Îmr amIUo ....... JaOoMo AgVo  
 1) Ë¶m§Zm Iye R>odÊ¶mH$[aVm 
 2) Ë¶m§Zm H$m‘mbm bmdÊ¶mH$[aVm 
 3) Ë¶m§À¶mH$Sy>Z CÎm‘ à{VgmX {‘i{dÊ¶mH$[aVm 
 4) H$m‘mÀ¶m {R>H$mUr AZwHy$b dmVmdaU R>odÊ¶mH$[aVm 
Question nos. 54 to 56 : One of the greatest delusions of 

modern times is the prevailing belief that we are more 

civilized than our ancestors. At no other period in the 

history of mankind has the word ‘Civilization’ been so 

often misused and misunderstood. It is not in the abundance 

of material goods alone that civilization lies. Neither does it 

consist in the advance of scientific knowledge however 

amazing it may be. The inventions and discoveries of 

science have undoubtedly brought unheard blessings and 

comforts to us. But they are not civilization. What we have 

failed to see is that civilization is a special way of human 

behaviour, of thought and feeling. The essential quality of 

civilization lies in the spirit of man, in his attitude to 

himself, to his fellowmen and to life as a whole. Looking 

everywhere around us today, we will find that man has 

made no progress since the dawn of history, in his attitude 

towards his fellowmen. On all the highest pillars in the 

cities of the world, you will find the figure of a conqueror 

or a general soldier. We know more about our killers and 

destroyers than about our saviours and saints. The heroes of 

the world are the heroes of war. 
54 : According to the passage what does civilization consist 

of? 

 1) Inventions and discoveries 

 2) Possession of goods 

 3) Advanced scientific knowledge 

 4) Man’s attitudes and behaviour 

55 : What does the word ‘delusion’ mean? 

 1) Real truth  2) Wrong belief 

 3) Correct statement 4) Misplaced interests 

56 : The main purpose of the passage is to convey the idea 

that ........ 

 1) modern man is more advanced in scientific 

knowledge. 

 2) we are in a more comfortable position than our 

ancestors. 

 3) modern man does not possess any attitude 

different from that of his ancestors.  

 4) we respect our heros of war, our conquerors.  
àíZ H«$. 54 Vo 56 : AmYw{ZH$ H$mimVrb EH$ gdm©V ‘moR>m ^«‘ åhUOo 
gÜ¶m àM{bV Agbobo ‘V H$s AmnU Amnë¶m nyd©Om§nojm OmñV 
gwg§ñH¥$V AmhmoV. ‘mZd B{VhmgmVrb H$moUË¶mhr H$mimV g§ñH¥$Vr øm 
eãXmMm EdT>m J¡admna d ømÀ¶m{df¶r BVH$m J¡ag‘O Pmbm Zgob. 

g§ñH¥$Vr åhUOo Ho$di ^m¡{VH$ ‘mb‘ÎmoMr aobMob Zìho qH$dm d¡km{ZH$ 
kmZmVrb àJVr {H$Vrhr AX² ŷV Agbr Var Vrhr Zìho. {dkmZmVrb 
emoYm§Zr {Zg§Xoh Amnë¶m Am¶wî¶mV H$Yr Z EoH$boë¶m gw{dYm d Amam‘ 
AmUbo AmhoV. na§Vw ¶mhr Jmoï>r åhUOo g§ñH¥$Vr Zìho. Oo AmnU bjmV 
KoV Zmhr Vo ho H$s g§ñH¥$Vr åhUOo dmJUyH$sMr, {dMmam§Mr d ^mdZm§Mr 
EH$ {d{eï> nÕV. g§ñH¥$VrMm ‘yb^yV Y‘© hm ‘mZdmÀ¶m àH¥$VrV, 
Ë¶mÀ¶m ñdV:{df¶rÀ¶m d¥ÎmrV, Amnë¶m gmo~Ë¶m{df¶rÀ¶m d¥ÎmrV Am{U 
IwÔ Am¶wî¶m{df¶rÀ¶m d¥ÎmrV AgVmo. Amnë¶m AmOy~mOybm nm{hbo 
AgVm Ago {XgVo H$s B{VhmgmÀ¶m àma§^mnmgyZ ‘Zwî¶mZo 
gmo~Ë¶m§{df¶rÀ¶m d¥ÎmrV H$mhrhr àJVr Ho$bobr Zmhr. OJmVrb eham§À¶m 
gd© C§M C§M Im§~m§da ¶wÕmVrb {dOoË¶m§Mo qH$dm g¡{ZH$m§Mo nwVio 
AmT>iVmV. Amnë¶mVrb ÌmVo d gmYy g§V ¶m§À¶mnojm OmñV ‘m{hVr 
Amnë¶mbm Amnë¶mVrb ‘maoH$ar d {dÜd§gH$ ¶m§À¶m {df¶r AgVo. 
OJmMo aUYra åhUOo ’$³V ¶wÕmVrb aUeya ‘mZbo AmhoV. 
54 : n[aÀN>oXmà‘mUo H$moUË¶m Jmoï>r ‘mZdr g§ñH¥$VrV g‘m{dï> AmhoV? 
 1) g§emoYZ  2) CËnmXZm§darb ‘mbH$s 
 3) àJV emór¶ kmZ 4) ‘mZdr d¥Îmr d dV©Z 
55 : ‘^«‘’ ¶m eãXmMm AW© H$m¶? 
 1) Iao gË¶  2) MwH$sMm {dídmg 
 3) ¶mo½¶ {dYmZ  4) MwH$sMr AmdS> 
56 : n[aÀN>oXmMm ‘w»¶ hoVy hr g§H$ënZm Xe©{dVmo H$s ........ 
 1) AmYw{ZH$ ‘mZd hm emór¶ kmZm‘Ü¶o A{YH$ àJV Amho. 
 2) AmnU Amnë¶m nyd©Om§nojm A{YH$ gwIXm¶H$ n[apñWVrV 

AmhmoV. 
 3) AmYw{ZH$ ‘mZd Amnë¶m nyd©Om§nojm doJir d¥Îmr ~miJV 

Zmhr. 
 4) Amnë¶mbm Amnë¶m dram§~Ôb, OoË¶m§~Ôb gmW© A{^‘mZ 

Amho. 
Question nos. 57 to 59 : Man enjoys the gift of speech and 

the ability to think. Yet by certain actions, man shows that 

he is thoughtless and lacks imagination. He causes much 

suffering to dumb creatures without meaning to be cruel. 

 Think of all the happy, wild birds flying freely, enjoying 

the open sky and living in the dense forest trees. Man 

catches a bird and imprisons it in a beautiful cage. He 

thinks that the bird will be happy if it gets a lot of food and 

fruits and a clean cage to live in. Man fails to understand 

the bird’s feelings. The little prisoner no longer feels like 

singing its songs of freedom and the joy of living. If it 

could speak, it would tell man how sad it is, cooped up in 

that small cage. To the bird, freedom is more valuable than 

food and comfort. 

 How can man be so thoughtless when he boasts of his 

superior intellect? He should understand the feelings of the 

dumb animals and birds and treat them with kindness and 

sympathy. Most children amuse themselves by teasing, 

troubling or torturing dumb creatures in captivity. It is the 

duty of parents and adults to teach children to have the right 

attitude towards all living creatures. Thus, we can hope to 

establish a friendly atmosphere between man and the other 

animals. Man then need no longer be known as the enemy 

of all creatures. 

57 : Why is man said to be thoughtless? 

 1) because he imprisons the birds. 

 2) because he loves birds and their singing. 

 3) becouse he has ability to speak and think. 

 4) because he fails to understand the feelings of  

     animals and birds. 
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58 : Where animals and birds are concerned which of the 

following is not true? 

 1) Man is superior inintellect. 

 2) Man inflicts suffering on them thoughtlessly. 

 3) Many children torture creatures in captivity. 

 4) Children are taught the right attitude towards all  

     living creatures. 

59 : The imprisoned bird ........ 

 1) is happy to get a lot of food. 

 2) wishes to tell man how sad he is. 

 3) values freedom more than anything else. 

 4) all the above. 
àíZ H«$. 57 Vo 59 : ‘mUgmbm g§^mfUmMo Am{U Ë¶m‘wio {dMma 
H$aÊ¶mMo daXmZ Amho. Varhr H$mhr H¥$Vt‘YyZ ‘mUyg ho XmIdyZ XoVmo H$s 
H$YrVar Vmo A{dMmarnUm H$aVmo Am{U Ë¶mMr H$ënZme³Vr H$m‘ H$aV 
Zmhr. Vmo AZoH$ ‘w³¶m Ordm§Zm, Ë¶mÀ¶m ‘ZmV Xþï>nUmMr ^mdZm Zgbr 
Var Ìmg XoVmo. 
 AmH$memV AmZ§XmZo ‘w³V g§Mma H$aUmè¶m Am{U O§JbmV amhUmè¶m 
njm§Mm {dMma H$am. ‘mUyg njr nH$S>Vmo Am{U Ë¶m§Zm qnOè¶mV ~§X 
H$aVmo. Ë¶mbm Ago dmQ>Vo H$s øm nú¶mbm AÞ, ’$io ^anya Im¶bm 
{‘imbr Am{U ñdÀN> qnOam ahm¶bm {‘imbm Va Vmo AmZ§Xr amhrb. 
‘mUgmbm nú¶mÀ¶m ^mdZm H$iy eH$V Zmhr. øm qnOè¶mVë¶m nú¶mbm 
ñdmV§Í¶mMo Am{U AmZ§XmMo JmUo JmVm ¶oV Zmhr. Oa Ë¶mbm ~mobVm ¶oV 
Agob Va Ë¶mZo Ë¶mbm Ë¶m qnOè¶mV amhÊ¶mMo {H$Vr Xþ:I hmoVo Amho ho 
gm§{JVbo AgVo. EH$m nú¶mgmR>r ñdmV§Í¶ ho Mm§Jbo AÞ Am{U Amam‘ 
¶mnojm OmñV ‘hÎdmMo AgVo. 
 Á¶m ‘mUgmbm Amnë¶m ~wÕrMm BVH$m A{^‘mZ dmQ>Vmo VmoM BVH$m 
A{dMmar H$gm dmJy eH$Vmo? Ë¶mbm øm ‘w³¶m àmÊ¶m§Mo Am{U nú¶m§Mo 
‘Z H$ibo nm{hOo Am{U Ë¶mZo Ë¶m§À¶mer X¶miynUo Am{U 
ghmZw^yVrnyd©H$ dmJbo nm{hOo. ~è¶mM ‘wbm§Zm Aem ‘w³¶m OZmdam§Zm 
nH$Sy>Z {MS>dÊ¶mV, Ìmg XoÊ¶mV Am{U Ë¶m§Mm N>i H$aÊ¶mV ‘Om 
dmQ>Vo. ‘wbm§Mm ‘w³¶m OZmdam§{df¶r ¶mo½¶ Vmo Ñï>rH$moZ {Z‘m©U H$aÊ¶mMr 
O~m~Xmar nmbH$m§Mr Am{U àm¡T>m§Mr Amho. Ë¶m‘wio ‘mUyg Am{U BVa 
àmUr‘mÌ ¶m§À¶mV ‘¡ÌrnyU© dmVmdaU {Z‘m©U hmoB©b Aer AmnU Aem 
H$ê$ eH$Vmo. ‘mUgmbm àmÊ¶mMm eÌy g‘OÊ¶mMr JaO CaUma Zmhr. 
57 : ‘mUgmbm A{dMmar H$m åhQ>bo Amho? 
 1) H$maU Vmo nú¶m§Zm qnOè¶mV R>odVmo. 
 2) H$maU Ë¶mbm njr d Ë¶m§Mo JmUo AmdS>Vo. 
 3) H$maU Ë¶mbm g§^mfUmMr Am{U {dMma H$aÊ¶mMr j‘Vm 

Amho. 
 4) H$maU Vmo àmUr d njr ¶m§À¶m ^mdZm g‘OyZ KoÊ¶mg 

Ag‘W© Amho. 
58 : àmUr d njr ¶m§À¶m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a 
Zmhr? 
 1) ‘mUyg ~w{Õ‘ÎmoV gag Amho. 
 2) ‘mUyg A{dMmarnUo Ë¶m§Zm Ìmg XoVmo. 
 3) AZoH$ ‘wbo Om¶~§Xr àmÊ¶m§Mm N>i H$aVmV. 
 4) ‘wbm§Zm Ordg¥ï>r~ÔbMm ¶mo½¶ Ñï>rH$moZ {eH$dbm OmVmo. 
59 : qnOè¶mVbm njr ........ 
 1) ^anya AÞ {‘imë¶mZo Iwe Amho. 
 2) AmnU {H$Vr Xþ:Ir AmhmoV ho ‘mUgmbm gm§JVmo. 
 3) BVa H$emhr nojm ñdmV§Í¶mbm ‘hÎd XoVmo. 
 4) darbn¡H$s gd© n¶m©¶ 

Question nos. 60 to 62 : Dr. Kiran Bedi is the first lady to 

qualify for the Indian Police Service (IPS). The qualities of 

honesty, courage, empathy for fellow humans, hard work, 

determination and patriotism are the ones that personify this 

unique woman. 

 Bedi had a hard time getting her way through the male 

dominated profession. She saw in her role as a police 

officer an opportunity to help the people, to show them the 

way to a better life. She applied this philosophy at every 

stage of her career as a traffic cop, an anti-narcotics cell 

officer, an anti-terrorist specialist, and an administrator. 

 Bedi did not fear anybody. To her the law was the same 

for all, be it the President of India or a commoner. It is said 

that she once towed Prime Minister Indira Gandhi’s car for 

parking violation while she was on the way to the United 

Sates. 

 The greatest challenge to her philosophy came in 1994 

when she was promoted to the rank of Inspector General of 

Prisons and given the responsibility of managing the largest 

and most notorious prison in the Asia Pacific region – Tihar 

Jail in Delhi where the inmates numbered about 8,500. She 

would shock prisoners by personally visiting them, talking 

and listening to them. 

 Bedi can be rightly acclaimed as the woman who 

scrubbled the dirt off the khaki of the police force by 

establishing herself and her life as an example worthy of 

emulation. 

60 : Which of the following is an example of Dr. Bedi’s  

quality of empathy? 

 1) Visiting and talking to prisoners 

 2) Not fearing anybody 

 3) Managing the Tihar prison 

 4) Being successful in a male dominated profession 

61 : Which of the following was Dr. Bedi’s greatest 

challenge? 

 1) Being the in-charge of anti-narcotics cell 

 2) Being a traffic cop   

 3) Talking to the prisoners 

 4) Managing the Tihar Jail 

62 : Which of the following statements is correct? 

 1) Kiran Bedi had no sympathy for the common 

man. 

 2) She got through the male dominated profession 

very easily. 

 3) She could manage about 8,500 prisoners. 

 4) She had different laws for different strata of 

society. 

àíZ H«$. 60 Vo 62 : S>m°. {H$aU ~oXr ¶m ^maVr¶ nmo{bg XbmVrb 
(IPS) n{hë¶m ‘{hbm A{YH$mar. IaonUm, YmS>g, g{hîUwVm, 
H$ï>miynUm, ÑT>{ZíM¶rnUm d Xoeào‘ hr ¶m A{ÛVr¶ órMr JwUbjUo. 
 ¶m nwéfàYmZ ì¶dgm¶mV Amnbr dmQ> emoYUo ho Vgo ~oXtZm 
AdKS>M hmoVo. na§Vw Amnë¶m nmo{bg A{YH$mè¶mÀ¶m ^y{‘Ho$V Ë¶m§Zr 
bmoH$m§Zm ghmæ¶ H$aÊ¶mMr d bmoH$m§Zm Am¶wî¶ gwYmaÊ¶mgmR>r dmQ> 
XmIdÊ¶mMr g§Yr nm{hbr. hoM VËd Ë¶m§Zr Amnë¶m ì¶dgm¶mÀ¶m 
àË¶oH$ Q>ßß¶mda åhUOo dmhVwH$ A{YH$mar, A§‘br nXmW© {damoYr 
XbmVrb A{YH$mar, AmV§H$dmXr {damoYr {dfoek d àemgH$ AgVmZm 
Omonmgbo. 
 ~oXtZm H$moUmMrhr ^rVr ZìhVr. H$maU H$m¶Xm hm gdmªgmR>r 
gmaImM AgVmo, ‘J Vo amḯ>nVr AgmoV dm Vmo gm‘mÝ¶ ‘mUyg Agmo. 
Ago gm§JVmV H$s IwÔ n§VàYmZ lr‘Vr B§{Xam Jm§Yr EH$Xm A‘o[aHo$bm 
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{ZKmë¶m AgVm Ë¶m§Mr MwH$sÀ¶m {R>H$mUr C^r Ho$bobr JmS>r ¶m§Zr 
CMbyZ Zobr. 

 Ë¶m§À¶m VËdmbm Iao AmìhmZ 1994 ‘Ü¶o Ë¶m§Zm nmo{bg 
‘hm{ZarjH$ (Vwé§J) åhUyZ ~T>Vr Pmë¶mda {‘imbo. H$maU Ë¶m§Zm 
Am{e¶m I§S>mVrb gdm©V ‘moR>çm d gdm©V Hw${d»¶mV Vwé§JmMr O~m~Xmar 
XoÊ¶mV Ambr - Vo åhUOo {X„rMo {Vhma H$amJ¥h, OoWo 8,500 H¡$Xr 
hmoVo. ~oXr Ooìhm H¡$Úm§Zm ñdV: ôQy>Z, Ë¶m§À¶mer ~mobyZ, Ë¶m§Mo åhUUo 
EoHy$Z KoV Voìhm H¡$Úm§Zm Y¸$mM ~gV Ago. 

60 : Imbrbn¡H$s H$moUVo {dYmZ S>m°. ~oXr ¶m§À¶m ^mdZmamonU JwUmMo 
CXmhaU Amho? 

 1) H¡$Úm§Zm ^oQ>Uo d Ë¶m§À¶mer ~mobUo. 

 2) H$moUmbmhr Z Km~aUo. 

 3) {Vhma OobMo ì¶dñWmnZ H$aUo. 

 4) EH$m nwéf àYmZ ì¶dgm¶mV ¶eñdr hmoUo. 

61 : Imbrbn¡H$s H$moUVo ~oXr ¶m§Zm gdm©V ‘moR>o AmìhmZ R>abo? 

 1) A‘br nXmW© {damoYr XbmMo à‘wI AgUo. 

 2) dmhVyH$ nmobrg AgUo. 

 3) H¡$Úm§er ~mobUo. 

 4) {Vhma OobMo ì¶dñWmnZ gm§^miUo. 

62 : Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho? 

 1) {H$aU ~oXtZm gm‘mÝ¶ ‘mUgm{df¶r H$mhrhr ghmZw ŷVr 
ZìhVr. 

 2) Ë¶m ’$ma ghOVoZo EH$m nwéf àYmZ ì¶dñWoV gm‘mdë¶m. 

 3) gw‘mao 8,500 H¡$Úm§Mo Ë¶m§Zr ì¶dñWmnZ Ho$bo. 

 4) Ë¶m§Zr g‘mOmVrb doJdoJù¶m bmoH$m§gmR>r doJdoJio {Z¶‘ 
bmdbo. 

Question no. 63 to 66 : Find the odd man out 

àíZ H«$. 63 Vo 66 : {dg§JV nX AmoiIm. 

63 :  

 

 

 

               1)  2) 

 

 

 

            3)  4)  

64 : 1) 400 2) 4 3) 4000 4) 40000 

65 : 1) NECK 2) EYES 3) HANDS 4) CHEEK 

65: 1) ‘mZ 2) S>moio 3) hmV 4) Jmb 

66 : 1) NOL 2) TUF 3) XYB 4) STH 

Question nos. 67 to 69 : Which number / group of 

alphabets / figures amongst the alternatives will replace the 

question mark in a sequence? 
àíZ H«$. 67 Vo 69 : ‘m{bHo$‘Ü¶o àíZ{MÝhmÀ¶m OmJr n¶m©¶mVrb 
H$moUVr g§»¶m / ‘yimjam§Mm JQ> / AmH¥$Vr ¶oB©b? 

67 :  21, 23, 29, 47, 75, ? 
 1) 110 2) 103 3) 99 4) 115 

68 :  XWVU, SRQP, ?, IHGF 
 1) KLMN 2) ONML 3) MLKJ 4) NMLK 

 

 

69 :  

 

 

 

 

 

       1)     2)     3)      4)  
Question no. 70 : Asmita, Babalu, Chetan, Daya, Ekata 

and Farukh are staying in different houses in a row. Farukh 

and Daya are neighbours of Bablu. Ekata is a neighbour of 

Chetan and Asmita, who is not a neighbour of either Farukh 

or Daya. If Chetan is also not a neighbour of Daya, then 

who are neighbours of Farukh? 

 1) Babalu and Daya 2) Daya and Chetan 

 3) Babalu and Chetan 4) Babalu and Ekata 

àíZ H«$. 70 : Apñ‘Vm, ~~by, MoVZ, X¶m, EH$Vm Am{U ’$méI ho 
EH$mM am§JoV doJdoJù¶m KamV amhVmV. ’$méI Am{U X¶m ho ~~byMo 
eoOmar AmhoV. EH$Vm hr MoVZ Am{U Apñ‘Vm, Or ’$méI qH$dm X¶m 
¶m§Mr eoOmar Zmhr, hrMr eoOmar Amho. Oa MoVZgwÕm X¶mMm eoOmar 
Zgob Va ’$méIMo eoOmar H$moU Agob? 
 1) ~~by Am{U X¶m 2) X¶m Am{U MoVZ 
 3) ~~by Am{U MoVZ 4) ~~by Am{U EH$Vm 
Question nos. 71 and 72 : K, L and M are the three 

persons who have worn shirts and trausers of different 

colours. Trousers are having colours Pink, Blue, and White 

where as shirts are Red, White and Buff coloured. No one 

has worn the pants and shirt of the same colour. K has not 

worn Pink pants while L has not worn Blue pants. M has 

not worn White pants while L has not worn Buff shirt K has 

worn White shirt then, 

àíZ H«$. 71 Am{U 72 : K, L Am{U M øm VrZ ì¶p³V§Zr 
{Za{Zamù¶m a§Jm§À¶m eQ>©g² Am{U n±Q>g² KmVë¶m AmhoV. n±Q>g²Mo a§J 
Jwbm~r, {Zim d nm§T>am Amho Va eQ>©g² bmb, nm§T>è¶m d ~’$ a§JmMo 
AmhoV. H$moUrhr EH$mM a§JmMo n±Q> d eQ>© KmVbobo ZmhrV. K Zo Jwbm~r 
n±Q> KmVbr Zmhr Va L Zo {Zir n±Q> KmVbobr Zmhr. M Zo nm§T>ar n±Q> 
KmVbr Zmhr Va L Zo ~’$ a§JmMm eQ>© KmVbobm Zmhr. K Zo nm§T>am eQ>© 
KmVbm Amho. Va, 
71 : What is the colour of the pants which M has worn? 

 1) Red 2) Blue 3) White 4) Pink 

71 : M Zo KmVboë¶m n±Q>Mm a§J H$moUVm Amho? 
 1) bmb 2) {Zim 3) nm§T>am 4) Jwbm~r 
72 : Which of the following triad is correct? 
 1) K – Pink pants – White Shirt 

 2) L – White pants – Red Shirt 

 3) L – Blue pants – Red Shirt 

 4) M – Pink pants – White Shirt 
72 : Imbrbn¡H$s H$moUVo {ÌHo$ ~amo~a Amho? 

 1) K – Jwbm~r n±Q> - nm§T>am eQ>© 

 2) L – nm§T>ar n±Q> - bmb eQ>© 
 3) L – {Zir n±Q> - bmb eQ>© 

 4) M – Jwbm~r n±Q> - nm§T>am eQ>© 
Question no. 73 : If in a certain code language ART is 

written as 22203, then how will the word JAM be coded in 

the same code language? 

 1) 15312 2) 12315 3) 21351 4) 10112 

 

? 
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àíZ H«$. 73 : Oa EH$m gm§Ho${VH$ ^mfoV ART hm 22203 Agm 
{b{hbm OmVmo, Va JAM hm eãX Ë¶mM gm§Ho${VH$ ^mfoV H$gm {b{hbm 
OmB©b? 

 1) 15312 2) 12315 3) 21351 4) 10112 

Question no. 74 and 75 : In a certain code language, the 

word STAKE is written as 72415 and the word STEAL is 

written as 17495. Then –  
àíZ H«$. 74 Am{U 75 : EH$m gm§Ho${VH$ ^mfoV STAKE hm eãX 
72415 Agm {b{hVmV Am{U STEAL hm eãX 17495 Agm 
{b{hbm OmVmo. Va -  

74. In the same code language how will the word LAKE be 

written? 

74 : Ë¶mM gm§Ho${VH$ ^mfoV LAKE hm eãX H$gm {b{hbm OmB©b? 

 1) 9249 2) 9417 3) 2417 4) 2419 

75. How could be the word LOST be coded ? 

75 : LOST hm eãX H$gm {b{hbm OmD$ eHo$b? 

(A) 2375  (B) 3597  (C) 5967  (D) 4657 
 1) A or qH$dm B 2) B or qH$dm C  

 3) A or qH$dm D 4) C or qH$dm D 

Question nos. 76 and 77 : Suresh is facing east. After 

turning 90 in anticlockwise direction, he travels for 8 km. 

Turning to his right he travels 2 km. Then again turns right 

and travels 11 km. Finally turning to his right he travels       

6 km. 

àíZ H«$. 76 Am{U 77 : gwaoe nyd}H$S>o Vm|S> H$ê$Z C^m Amho. 

à{VK{Q>dV {XeoZo 90 VyZ diyZ Vmo 8 {H$.‘r. Jobm. Ë¶mÀ¶m 
COdrH$S>o diyZ Vmo 2 {H$.‘r. Jobm. Z§Va nwÝhm COdrH$S>o dibm Am{U 
11 {H$.‘r. Jobm. eodQ>r Ë¶mÀ¶m COdrH$S>o diyZ 6 {H$.‘r. Jobm. Va, 

76 : How far in km is Suresh from his starting point? 

76 : gwaoe Ë¶mÀ¶m Ama§^ q~XÿnmgyZ {H$Vr {H$.‘r. Xÿa Amho? 

 1) 27 2) 13 3) 5 4) 10 

77 : If Suresh wants to travel to the starting point in which 

direction he should travel? 

 1) North east  2) South east 

 3) North west 4) South west 

77 : Oa gwaoebm Ama§^ q~XÿH$S>o Om¶Mo Agob Va Vmo H$moUË¶m {Xeobm 
àdmg H$aob? 

 1) B©emÝ¶ 2) Am¾o¶ 3) dm¶ì¶ 4) Z¡F$Ë¶ 

Question no. 78 : What is the type of a quadrangle whose 

four angles are x + 47, 2x – 17, 2x – 3 and x + 33 

respectively? 

 1) Rectangle  2) Square 

 3) Parallelogram 4) Trapezium 

àíZ H«$. 78 : Á¶m Mm¡H$moZmMo Mma H$moZ AZwH«$‘o x + 47, 2x – 17,   

2x – 3 Am{U x + 33 AmhoV Vmo H$moUË¶m àH$maMm Mm¡H$moZ Agob? 

 1) Am¶V  2) Mm¡ag 

 3) g‘m§Va ŵO Mm¡H$moZ 4) g‘b§~ Mm¡H$moZ 

Question no. 79 : Kalu does some work in 24 days whereas 

Balu does the same work in 48 days. How many days will 

be required if both Kalu – Balu do the work 

simultaneously?  

 1) 12 2) 22 3) 20 4) 16 

 

àíZ H«$. 79 : H$miy H$mhr H$m‘ 24 {XdgmV H$aVmo Va ~miy VoM H$m‘ 
48 {XdgmV H$aVmo. Oa H$miy-~miy ¶m§Zr EH$mM doir Vo H$m‘ Ho$bo Va 
{H$Vr {Xdg bmJVrb? 

 1) 12 2) 22 3) 20 4) 16 

Question no. 80 : How much will be the difference in the 

interest if  ` 25000/– is  invested for two years at 8% per 

year with simple interest and compound interest? 

àíZ H«$. 80 : ` 25000/- X.gm.X.eo. 8% XamZo XmoZ dfm©H$aVm 
gai ì¶mOmZo d MH«$dmT> ì¶mOmZo Jw§Vdë¶mg {‘iUmè¶m ì¶mOmV {H$Vr 
’$aH$ Agob? 

 1) ` 150/– 2) ` 160/– 3) ` 260/– 4) ` 180/– 

Question no. 81 : In PQR mQPR = 70. Sides PQ and 

PR are extended. The angle bisectors of exterior angles Q 

and R meet at S as shown in the figure. How much is 

mQSR? 

àíZ H«$. 81 : PQR ‘Ü¶o mQPR = 70 PQ Am{U PR øm 
^wOm dmT>dë¶m. ~møH$moZ Q Am{U R Mo H$moZXþ^mOH$ AmH¥$VrV 
XmI{dë¶mà‘mUo S ‘Ü¶o {‘iVmV. Va mQSR? {H$Vr Agob? 

 

   1) 55 

   2) 65 

   3) 45 

   4) 75 

 

 

Question no. 82 : What is the sum of the angles at the point 

A, B, C, D, E in the following figure? 

àíZ H«$. 82 : Imbrb AmH¥$VrV A, B, C, D, E ¶m q~Xÿnmer hmoUmè¶m 
H$moZm§Mr ~oarO {H$Vr Agob? 

   1) 360 

   2) 180 

   3) 90 

   4) 270 

 

Question no. 83 : The ratio of today’s age of Ram and 

Rahim is 3 : 2. The ratio of their ages four years ago was    

5 : 3. Then how much will be the difference in their ages 4 

years hence? 

àíZ H«$. 83 : am‘ Am{U a{h‘ ¶m§À¶m AmOÀ¶m d¶m§Mo JwUmoÎma 3 : 2 
Amho. Mma dfm©nydu Ë¶mÀ¶m d¶mMo JwUmoÎma 5 : 3 hmoVo. Va Mma dfm©Z§Va 
Ë¶mÀ¶m d¶mVrb ’$aH$ {H$Vr Agob? 

 1) 8 2) 6 3) 9 4) 4 

Question no. 84 : When a sari is sold at ` 2400/– 20% 

profit is gained. For how much it should be sold to get a 

profit of 30%? 

àíZ H«$. 84 : EH$ gmS>r ` 2400/- bm {dH$br Voìhm 20% Z’$m 
{‘imbm Vr {H$Vrbm {dH$mdr åhUOo 30% ’$m¶Xm hmoB©b? 

 1) 3600/– 2) 2300/– 3) 3000/– 4) 2600/– 
 

Directions for following 6 questions : Given below are six 

questions describing a situation and is followed by four 

possible responses. Indicate the response you find the most 

appropriate. Choose only one response for each question. 

The responses will be evaluated based on the level of 

appropriateness for the given situation. 

  Please attempt all the questions. There is no penalty 

for wrong answers for these six quetions. 

 x 

 x 
 

 x 

 x 
 

70 

Q R 

S 

P 

A 

B 

D 

E 

C 
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nwT>rb ghm àíZm§gmR>r gyMZm : Imbr ghm àíZ {Xbo AmhoV Á`mV 
àË`oH$s EH$ KQ>Zm {Xbr Amho Am{U Ë`mZ§Va Mma à{V[H«$`m {Xë`m 
AmhoV. Vw_À`m Ñï>rZo Ë`mVrb gdm©V `mo½` à{V{H«$`m Zm|Xdm. àË`oH$ 
àíZmH$arVm EH$M n`m©` {ZdS>m. CÎmam§Mo _yë`m§H$Z, {Xboë`m KQ>ZoÀ¶m 
g§X^m©V Cn`mo{JVoÀ`m ñVamda Ho$bo OmB©b. 
H¥$n`m gd© àíZm§Mr CÎmao Úm. `m ghm àíZm§À`m MwH$sÀ`m CÎmamgmR>r 
H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
 

Question no. 85 : You are a supervisor of a construction 

company. While doing your work, you came to know that 

the quality of material used in a building by the builder was 

not up to the mark. When you informed about it to the 

project manager, he tried to bribe and threaten you. What 

will you do?  

 1) Report about it to any senior official. 

 2) Complain about the matter to the police. 

 3) Accept the bribe due to threatening. 

 4) Go on strike with all workers.  

àíZ H«$. 85 : Vwåhr EH$m ~m§YH$m‘ ì¶dgm¶mer {ZJS>rV AgUmè¶m 
H§$nZrMo gwnadm¶Pa AmhmV. Vwåhr H$m‘ H$aV AgVmZm ~m§YH$m‘mgmR>r 
dmnaÊ¶mV Ambobo gm{hË¶ hb³¶m àVrMo Agë¶mMo Vw‘À¶m {ZXe©Zmg 
Ambo Ë¶m‘wio Vwåhr ¶m àH$ënmer {ZJS>rV AgUmè¶m ì¶dñWmnH$mg 
¶m~m~V ‘m{hVr {Xbr na§Vw Vmo Vwåhmg bmM d Y‘H$s XoÊ¶mMm à¶ËZ 
H$aV Amho. Aem n[apñWVrV Vwåhr H$m¶ H$amb? 
 1) d[að>m§H$S>o ¶m~m~V Ahdmb nmR>dmb. 
 2) nmo{bgm§H$S>o VH«$ma H$amb. 
 3) Y‘H$s‘wio bmM KoÊ¶mg V¶ma ìhmb. 
 4) gd© H$‘©Mmè¶m§Zm ~amo~a KoD$Z g§n nwH$mamb. 
Question no. 86 : You are the head of the department of a 

Government organization. One question is asked in the 

legislative assembly in zero hour session regarding your 

department. So you have to sent an urgent report to the 

higher authority. What would you do? 

 1) Place a written order to your subordinate for 

sending the report immediately. 

 2) Give an order to your subordinate to send it by 

speed post or fax. 

 3) Give an order to your subordinate through a 

departmental letter. 

 4) None of the above 

àíZ H«$. 86 : Vwåhr gaH$mar ¶§ÌUoVrb EH$m {d^mJmMo à‘wI AmhmV. 
{dYr‘§S>imVrb ewÝ¶ H$mimV Vw‘À¶m {d^mJmer {ZJS>rV EH$ àíZ 
{dMmaÊ¶mV Ambm. Ë¶m‘wio Ë¶m àíZmg AZwgê$Z Vwåhmbm VmËH$mi 
d[að>m§H$S>o Ahdmb gmXa H$amd¶mMm Amho. Vwåhr H$m¶ H$amb? 
 1) VmËH$mi Ahdmb nmR>dÊ¶mMm boIr AmXoe Vwåhr Vw‘À¶m 

H${Zð> A{YH$mè¶mbm Úmb. 
 2) ObX nmoñQ> qH$dm ’°$³gZo Ahdmb nmR>dÊ¶mMm AmXoe 

AmnU H${Zð> A{YH$mè¶m§Zm Úmb. 
 3) Vw‘À¶m {d^mJmVrb nÌmÛmao Vwåhr Vw‘À¶m H${Zð> 

A{YH$mè¶mg Amkm Úmb. 
 4) darbn¡H$s Zmhr. 
Question no. 87 : You are working as an executive 

engineer  and one of the Jr. engineer in your department is 

not co-operating with you in a new project of government. 

You will ........ 

 1) take away the matter from him after scolding. 

 2) raise the matter in a meeting. 

 3) complain about him to a senior official. 

 4) ask a written reply from him for not doing work. 

àíZ H«$. 87 : Vwåhr H$m¶©H$mar A{^¶§Vm AmhmV. Vw‘À¶m {d^mJmVrb 
H${Zð> A{^¶§Vm Vwåhmbm gaH$maÀ¶m EH$m Zì¶m àH$ënmer {ZJS>rV 
H$m‘m‘Ü¶o AghH$ma XmIdV Amho. Vwåhr H$m¶ H$amb? 

 1) Ë¶m H$‘©Mmè¶mer {ZJS>rV AgUmao H$m‘ Ë¶mbm VmH$sX XoD$Z  

        H$mTy>Z ¿¶mb. 

 2) {‘qQ>J‘Ü¶o ¶m ‘wÚmg AZwgê$Z àíZ CnpñWV H$amb. 

 3) d[að>m§H$S>o ¶m H$‘©Mmè¶mMr VH«$ma H$amb. 

 4) H$m‘ Z H$aÊ¶m~Ôb Ë¶m H$‘©Mmè¶mMo boIr ‘V ‘mJdyZ  

        ¿¶mb. 

Question no. 88 : You are a police officer. One night 

during patrolling duty, you find a suspicious bag lying on 

the road. What would you do? 

 1) Go near to the bag and open it. 

 2) Inform the nearby police station and ask for 

immediate assistance as the bag could be a bomb. 

 3) Leave the bag as it is and go on your duty. 

 4) Keep the bag with you. 

àíZ H«$. 88 : Vwåhr nmo{bg A{YH$mar AmhmV. amÌrÀ¶m doir JñV 
KmbV AgVmZm añË¶mda Vwåhmbm EH$ g§e¶mñnX ~°J gmnS>br Amho. 
Vwåhr H$m¶ H$amb? 

 1) ~°JoOdi OmD$Z Vwåhr Vr CKS>mb. 

 2) OdiÀ¶m nmo{bg ñQ>oeZbm ~°Jo‘Ü¶o ~m°å~ AgÊ¶mMr e³¶Vm 
Agë¶mMm g§Xoe XoD$Z VmËH$mi Ë¶m§Mr ‘XV ¿¶mb. 

 3) ~°JoH$S>o Xþb©j H$ê$Z Vwåhr Vw‘Mo nwT>rb H$m‘ Mmby R>odmb. 

 4) Vr ~°J Vwåhr ñdV:H$S>o R>odmb. 

Question no. 89 : You are attending a formal meeting of 

launching a new policy for rural development. The meeting 

is very boring and unproductive as the members are not 

reaching to a particular course of action. Meeting is going 

on in your office. How would you react? 

 1) Pretend to have received an urgent call and go to 

the back of your chamber. 

 2) Try to involve yourself and make the meeting 

more productive and help the team in reaching a 

conclusion. 

 3) Bear the delay as it would be rude to leave. 

 4) Try to postpone the meeting. 

àíZ H«$. 89 : J«m‘rU {dH$mgmer {ZJS>rV ZdrZ YmoaU R>adÊ¶mgmR>r 
Am¶mo{OV Ho$boë¶m {‘qQ>J‘Ü¶o Vwåhr gh^mJr AmhmV. {‘qQ>J‘Yrb 
g^mgX Hw$R>bohr {d{eð> YmoaU d {Xem R>adV Zmhr. Ë¶m‘wio {‘qQ>J 
H§$Q>midmUr ~ZV Mmbbr Amho d H$moUVrhr ’$b{ZînÎmr hmoV Zmhr Ago 
{MÌ {XgV Amho. {‘qQ>J Vw‘À¶m H$m¶m©b¶mV Mmby Amho. Aemdoir Vwåhr 
H$m¶ à{V{H«$¶m Úmb? 

 1) Vwåhmbm ‘hÎdmMm ’$moZ Amë¶mMo T>m|J H$ê$Z Vwåhr M|~aÀ¶m 
‘mJÀ¶m ~mOyg Omb. 

 2) {‘qQ>J‘Ü¶o g{H«$¶ gh^mJ Zm|XdyZ Vr OmñVrV OmñV 
’$bXm¶r d C{ÔîQ>>H|${ÐV ~ZdÊ¶mMm à¶ËZ H$amb. 

 3) {‘qQ>J‘Yrb {db§~ ‘mÝ¶ H$aUo H$maU ‘YyZM CRy>Z OmUo 
CÕQ>nUmMoo hmoB©b. 

 4) {‘qQ>J nwT>o T>H$bÊ¶mMm à¶ËZ H$amb. 
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Question no. 90 : One social organization which is 

supported by political party gets violent and starts breaking 

laws in an area. You are the district magistrate of that area. 

How will you tackle law and order situation in the area? 

 1) You will reach at the incidence with police force 

and  keeping at a distance from the crowd try to 

pacify them keeping the police force behind and 

if the situation does not get under control, then 

minimal action will be suggested. 

 2) Direct the police force to take punitive action. 

 3) Leave the place to save your own life. 

 4) Direct the police force to use tear gas and lathi 

charge  

àíZ H«$. 90 : EH$m amOH$s¶ njmZo nwañH¥$V Ho$bobr gm‘m{OH$ g§ñWm 
ehamV X§Jo ngadyZ H$m¶Xm d gwì¶dñWm {dñH${iV H$aÊ¶mMm à¶ËZ 
H$aV Amho. ho {ZXe©Zmg Amë¶mg EH$ {Oëhm X§S>m{YH$mar ¶m ZmË¶mZo 
Vwåhr H$m¶ H$amb? 
 1) nmo{bgm§Mm Vm’$m KoD$Z Vwåhr KQ>ZmñWir nmohMmb 

nmo{bgm§Zm ‘mJo R>oD$Z JXunmgyZ Xÿa amhÿZ Ë¶m§Zm em§V 
H$aÊ¶mMm à¶ËZ H$amb d n[apñWVr hmVm~mhoa OmV Amho 
Ago {ZXe©Zmg Amë¶mg H$‘rV H$‘r H$madmB© H$aÊ¶mMo 
gwMdmb. 

 2) H$S>H$ H$madmB©Mo AmXoe Vwåhr nmo{bgm§Zm Úmb. 
 3) ñdV:Mm Ord dmMdÊ¶mgmR>r Vwåhr {VWyZ {ZKyZ Omb. 
 4) Alw Ywa d bmR>rh„m H$aÊ¶mMm AmXoe nmo{bgm§Zm Úmb. 
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 
 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 
`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
doi : XmoZ Vmg                                                                                 A{YH$V_ JwU : 200 

gyMZm 

1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm àíZ Jhmi Pmbo 
AmhoV H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm. Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 

3. `m àíZg§MmV EHy$U XmoZ ^mJ Imbrbà_mUo {d^mJbobo AmhoV.  

 EHy$U 
àíZ 

JwU àíZm§Mo ñdê$n MwH$sÀ`m CÎmamgmR>r X§S> 

^mJ - 1 50 100 dñVw{Zð> àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S> 

^mJ - 2 40 100 dñVw{Zð> à. H«$. 85 Vo 90 ì`{V[aŠV àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S 

àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. àË`oH$ àíZmbm Mma n`m©̀  {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo 
Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa Vwåhmbm EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` 
n`m©` Zm|Xdm. H$moUË`mhr àíZmgmR>r Ho$di EH$M n`m©` {ZdS>m. 

4. gd© 90 dñVw{Zð àíZm§Mr CÎmao (^mJ 1 d 2) gH$mir 11 Vo Xþnmar 1 ¶m doioV Vwåhmbm Ë¶mgmR>r {Xboë`m ñdV§Ì CÎman{ÌHo$daM Zm|Xdm`Mr 
AmhoV.  

5. dñVw{Zð àíZm§Mr CÎman{ÌH$m Xþnmar 1 dmOVm naV KoVbr OmB©b. H$moUË¶mhr n[apñWVrV dñVw{Zð> àíZm§Mr CÎmao Xþnmar 1 Z§Va {b{hVm 
¶oUma ZmhrV  

6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eï>>_m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m àdoe n{ÌHo$da Amho. 
7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n ©̀dojH$m§H$S>o \$ŠV CÎman{ÌH$m Úmd`mMr Amho. hm àíZg§M 

KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. Xþnmar 12 dmOÊ¶mnydu Vwåhr narjmH$jmVyZ ~mhoa OmD$ eH$Uma Zmhr. 
8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 
9. MwH$sÀ`m CÎmamH$arVm X§S> : 
      àíZn{ÌHo$_Ü`o àíZ H«$_m§H$ 85 Vo 90 ì`{V[aŠV ^mJ 1 d ^mJ 2 ‘Yrb BVa àíZm§Mo MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm  
     OmB©b. àíZ H«$_m§H$ 85 Vo 90 `m àíZm§À`m MwH$sÀ`m CÎmam§gmR>r X§S> Ho$bm OmUma Zmhr. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmÏ¶m©Zo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm Agboë`m JwUm§À`m 
EH$ V¥{V`m§e JwU X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmÏ¶m©Zo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob Varhr Vo CÎma MwH$sMo 
_mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
10. ¶m àíZg§MmVrb ^mJ-2 ‘Ü¶o H$‘rV H$‘r 33 JwU {‘imë¶mgM ^mJ-1 Vnmgbm OmB©b Am{U A§{V‘ {ZdS> ¶mXr ^mJ-1 ‘Ü¶o {‘imboë¶m 

JwUm§ZwgmaM V¶ma Ho$br OmB©b ¶mMr Zm|X ¿¶mdr.    

11. `m narjoMm {ZH$mb {X. 26.12.2015 amoOr qH$dm Ë¶mZ§Va Am_À`m www.yashada.org/acec `m do~gmB©Q>da Kmo{fV Ho$bm OmB©b. 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.

 


